## Bid #OCWUT WC-0904 Phase IV - 72-inch Water Transmission Main assessment Joint Replacement

Start Date Sep 13, 2023 7:50:59 AM CDT Awarded Date Not Yet Awarded

OCWUT WC-0904 Phase IV-01-01 Base Bid: AUDIO-VIDEO RECORDING PRE- AND POST-CONSTRUCTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Ú	Ú				
Product Code: Supplier Product Code:				•					
Agency Notes:		Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00	Ú	Ú				
Product Code:		Supplier Produc	t Code:	•					
Agency Notes:		Supplier Notes:							

OCWUT WC-0904 Phase IV-01-02 Base Bid: SEDIMENT AND EROSION CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Ú				
Product Code:	ode: Supplier Product Code:								
Agency Notes:		Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Ú				
Product Code:		Supplier Produc	t Code:	•					
Agency Notes:		Supplier Notes:							

OCWUT WC-0904 Phase IV-01-03 Base Bid: AGGREGATE BASE (TYPE A)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
McKee Utility Contractors, Inc.	First Offer - \$25.00	125 / ton	\$3,125.00		Ú					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes	s:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$32.00	125 / ton	\$4,000.00		Ú					
Product Code:		Supplier Produ	uct Code:							
Agency Notes:		Supplier Notes	s:							

OCWUT WC-0904 Phase IV-01-04 Base Bid: HYDROSTATIC PRESSURE TESTING AND DISINFECTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Ú				
Product Code:		Supplier Produc	t Code:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0904 Phase IV-01-05 Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Ú				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Ú				
Product Code:		Supplier Produc	t Code:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0904 Phase IV-01-06 Base Bid: G.P.S. AS-BUILT SURVEY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Ú				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Ú				
Product Code:		Supplier Produc	t Code:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0904 Phase IV-01-07 Base Bid: CONSTRUCTION SIGNING AND TRAFFIC CONTROL									
Supplier		<b>Unit Price</b>	Qty/Unit	Total Price	Attch.	Docs			
McKee Utility Contractors, Inc.	First Offer -	\$5,000.00	1 / lump sum	\$5,000.00		J			
Product Code: Supplier Product Code:									
Agency Notes:			Supplier Notes:						
BELT CONSTRUCTION, INC [Ad]	First Offer -	\$5,000.00	1 / lump sum	\$5,000.00		J			
Product Code:			Supplier Produc	t Code:					
Agency Notes:			Supplier Notes:						

OCWUT WC-0904 Phase IV-01-08 Base Bid: MOBILIZATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$70,000.00	1 / lump sum	\$70,000.00						
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Ú				
Product Code:		Supplier Produc	t Code:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0904 Phase IV-01-09 Base Bid: CLEARING AND GRUBBING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$14,000.00	1 / lump sum	\$14,000.00		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
McKee Utility Contractors, Inc.	First Offer - \$68,600.00	1 / lump sum	\$68,600.00		Ú				
Product Code:		Supplier Produc	t Code:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0904 Phase IV-01-10 Base Bid: SOLID SLAB SODDING									
Supplier	Unit Price	Qty/Unit	<b>Total Price</b>	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$4.00	7500 / square yard	\$30,000.00		0				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
BELT CONSTRUCTION, INC [Ad]	First Offer - \$4.00	7500 / square yard	\$30,000.00		)				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT WC-0904 Phase IV-01-11 Base Bid: HYDROSEEDING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
BELT CONSTRUCTION, INC [Ad]	First Offer - \$3,200.00	1.5 / acre	\$4,800.00		Ú				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Note	es:						
McKee Utility Contractors, Inc.	First Offer - \$5,000.00	1.5 / acre	\$7,500.00		Ú				
Product Code:		<b>Supplier Prod</b>	uct Code:						
Agency Notes:		Supplier Note	es:						

OCWUT WC-0904 Phase IV-01-12 Base Bid: TEMPORARY CONSTRUCTION ENTRANCE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
McKee Utility Contractors, Inc.	First Offer - \$2,500.00	3 / each	\$7,500.00		Ú				
Product Code:		<b>Supplier Prod</b>	uct Code:						
Agency Notes:		Supplier Note	es:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$4,000.00	3 / each	\$12,000.00		Ú				
Product Code:		<b>Supplier Prod</b>	uct Code:						
Agency Notes:		Supplier Note	es:						

OCWUT WC-0904 Phase IV-01-13 Base Bid: DRAIN 72-INCH PIPELINE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$132,000.00	1 / lump sum	\$132,000.00		Ŋ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
McKee Utility Contractors, Inc.	First Offer - \$200,000.00	1 / lump sum	\$200,000.00				
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT WC-0904 Phase IV-01-14 Base Bid: REMOVE 72-INCH PCCP (16-FOOT JOINT)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
McKee Utility Contractors, Inc.	First Offer - \$20,000.00	5 / each	\$100,000.00		Ú		
Product Code: Supplier Product Code:							
Agency Notes:	Supplier Notes:						
BELT CONSTRUCTION, INC [Ad]	First Offer - \$83,000.00	5 / each	\$415,000.00		Ú		

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

OCWUT WC-0904 Phase IV-01-15 Base Bid: 72-INCH X 16-FOOT WELDED STEEL PIPE CLOSURE SECTION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$133,000.00	5 / each	\$665,000.00		Ð		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
McKee Utility Contractors, Inc.	First Offer - \$173,652.00	5 / each	\$868,260.00		Ð		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Note	es:				

OCWUT WC-0904 Phase IV-01-16 Base Bid: 72-INCH PCCP INTERNAL JOINT REPAIR (REFER TO SPECIFICATIONS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$2,000.00	30 / each	\$60,000.00		Ú		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
McKee Utility Contractors, Inc.	First Offer - \$5,000.00	30 / each	\$150,000.00		Ú		
Product Code:		Supplier Product Code:					
Agency Notes: Supplier Notes:							

OCWUT WC-0904 Phase IV-01-17 Base Bid: INSTALL 72-INCH BUTTERFLY VALVE SEALS (REFER TO SPECIFICATIONS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
BELT CONSTRUCTION, INC [Ad]	First Offer - \$27,600.00	1 / each	\$27,600.00		Ú		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
McKee Utility Contractors, Inc.	First Offer - \$45,000.00	1 / each	\$45,000.00		Ú)		
Product Code:		Supplier Product Code:					
Agency Notes: Supplier Notes:							

## **Supplier Totals**

f <u>BELT CONSTRUCTION, INC [Ad]</u> \$1,471,900.00 (17/17 items)

Bid Contact MARLA STUEHRENBERG Address 2507 E BROAD

david@beltinc.com TEXARKANA, AR 71854

Ph 870-772-7216 Fax 870-772-7233

Qualifications OKC PRE-QUALIFIED CONTRACTORS

Bid Bond [a] (Status: This bid bond could not be verified)

Bid Notes The system could not verify the bid bond. Bidsync advised to just upload a pdf of the

Surety 2000 bid bond. It has been added as an attachment to bid item 1, Pre and Post

**Construction Video.** 

Agency Notes	:	Supplier Notes: The system could not verify the bid of bond. Bidsync advised to just upload a pdf of the Surety 2000 bid bond. It has been added as an attachment to bid item 1, Pre and Post Construction Video.	
f <u>McKee Utili</u>	ty Contractors, Inc.	, ,	7/17 ms)
Bid Contact	Shane McKee <u>shane@mckeeutility.com</u> Ph 405-567-7506	Address 2319 West Main Prague, OK 74864	
Qualifications Agency Notes	OKC PRE-QUALIFIED CONTRACTORS :	Supplier Notes:	Head Attch:

\*\*All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Print

Close